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1 313 R AFE | FEER | MBH&RT | 7:39:55 [100km&F35~3 9% 1
2 328 BEF A¥X | BEER PTC 8:03:14 100 km&F2 9T 1
3 3104 | LA EFHFE | BREE [ CFE/EE | 84817 [100kmkF30~34% 1
4 3206 | BlF =R | @R 8:48:49 |100km&F35~39% 2
5 306 = & | @B [Q5F—X| 851:25 [100kmkF4a0~44z 1
6 3443 ABE B | LR 8:53:23 100 kmxF45~4 9% 1
7 312 2R BXE | ERE 8:53:33 [100 km&F2 9muT 2
8 306 |&W BARE| TER CRm 8:56:22 | 100 km&F45~49% 2
9 310 |¥lE  0F BRED OTRC 9:08:21 |100km&F45~49% 3
10 3010 | /b =iz | BER 9:20:27 [100 km&F2 9mUT 3
11 321 ¥OMT | dbEE |BiEYE~RC| 9:27:36 [100km&F50~545% 1
12 308 A% BT | WBER 9:32:28 100 km&F50~54% 2
13 304 kg BE | KIRA 9:34:37 100 km&F50~54% 3
14 3106 | && W5 | BFRE 9:39:41 |100km&F30~34% 2
15 324 | B, Eth | LBR | BEMEER | 9:45:29 [100km&F2 9mUT 4
16 309 a8 AR | B [Team Ok| 9:47:42 [100kmxFa5~495 4
17 3004 | —f EE | BFREE 9:49:47 [100 km& T2 9%UT 5
18 3513 | KH =& | ERE 9:55:13 |100km&F50~54% 4
19 3602 |BFH EfEF| RES 10:02:24100kmkF55~59% 1
20 3538 (BEH HBEF| EEE 10:12:39] 100 km&F50~5 4% 5
21 3307 |B®H o =ERE &0/ F[10:15:15]100 kmaFa0~4 45 2
22 3566 | &b BT | BEERE [ 1 —7L X [10:20:37100km&F50~54% 6
23 326 |BlD x| KERAS 10:26:47| 100k m&F4 5~4 9% 5
24 3541 | )1y B | =ERE &Y RUN|[10:30:52]100 kmaF50~545 7
25 3810 F8 JEF | RERE 10:32:271100 k m&¥6 5L 1
26 3402 | KR EREF| BINIE LWL [10:35:25(100kmuFa5~4 9% 6
27 3203 (IO BFF| oHME | mA+EEk [10:36:30(100km&735~3 9% 3
28 3568 [ wH Y| FILE 10:38:04(100km&F50~54% 8
29 3301 FOmE SR +EAC 10:38:30] 100 km&F40~4 4% 3
30 3212 | #F ZHS | @AER 10:38:46|100km&F35~3 9% 4
31 3317 | AR IR | EBRE 10:39:13[100km&F40~4 4% 4
32 302 BA K¥ | @HAE +EAC [10:39:50{100km&F35~39% 5
33 3634 |E AZEF| EFHME 10:41:34[100km&F55~59% 2
34 3409 | KB LIZ | &FMEB | 3v>—2= [10:43:20|100kmaFa5~4 9% 7
35 318 BIG EF | HERER 10:43:41|100km&F45~4 95 8
36 3306 [|/F2 ERF| =R 10:47:481100km&F40~4 45 5
37 3601 | k& FE | EEER 10:50:12 100 kmzF55~59% 3
38 3204 | M E&TF | BER 10:53:19(100km&F35~3 9% 6
39 3405 |BEH AEF| FLE 10:54:43|100km&F45~4 95 9
40 3215 | BB KfE | KRAE 10:56:02100km&x¥35~3 9% 7
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41 3201 &= FY | ERED ARC 11:06:13[100km&F35~3 9% g
42 315 |0 EHEE| RBE 11:06:24[ 100 km&F50~545% 9
43 3574 Ei /T | KRR 11:11:26|100km&F50~5 4% 10
44 3207 | ¥ERE RBF | KBRAF 11:15:22|100km&F35~3 9% 9
45 301 WO RRF[ESINE|s 5 7R 2%:=A]11:16:27(100km&aF55~59% 4
46 3422 Xy BEH | MR | WA+EK |11:16:37|100kmaFa5~4 95 10
47 3442 | A HMF | RRE 11:16:58|100km&zFa5~a 95| 11
48 3320 | WLk fuF | FINE 11:18:15|100km&F4 0~4 4%
49 3304 | RARR & ZEE 11:19:28100km&F40~4 4%
50 3557 | iEEE Ei | mAR 11:24:21(100kmuF50~54%| 11
51 3551 HI e | ERE 11:25:39 100 km&F50~5 4% 12
52 3210 |=A =EE AR 11:25:47(100km&F35~39%| 10
53 3428 | R BB | BEE 11:27:16|100km&zFa5~a 9| 12
54 3573 | FH T | MLE 11:28:53|100kmzF50~548| 13
55 3811 | /B EFE | R 11:34:42100kmkF4 0~4 45 8
56 3571 [H AETF| dvEE A= 11:37:20(100 kmzF50~54%| 14
57 3514 | EEH FE | R 11:38:45|100km&F50~54%| 15
58 3562 |tE4K YUp| BiEE 11:39:34|100km&F50~54%| 16
59 3211 ®w B e 1L R 11:40:05(100kmx735~39%| 11
60 3516 |H =EF| BRE 11:41:27(100km&F50~54%| 17
61 3439 [ EF| HRE 11:46:29| 100 km&F45~4 9% 13
62 3716 | R =R | dEE [5idY &~RC[11:46:36[100km&F60~64% 1
63 3419 |#VE BXTF| MLE 11:48:18 100 kmxFas5~a9%| 14
64 3717 | 2B BT | KA 11:50:14[100kmzF60~64% 2
65 3323 | HF #MEF | KA 11:53:44 100k m&F40~4 4% 9
66 317 M #EF WO [T, VIVAL[11:57:57(100km&¥55~59% 5
67 3548 | RE XF | ERE F5H5RC |11:59:45(100kma¥s50~54 18
68 3326 | FE Ex | KRE 12:05:44 100 km&Fa0~4 4% 10
69 311 B OREE| BmBE | EEmEER |12:06:29]100km&F55~5 9% 6
70 3604 |&E& YWIH| BERE |TREELES[12:11:03|100kmaF55~5 9% 7
71 3637 = AME | LBE 12:12:33 100 kmzF55~59% 8
72 3721 | cBY| BIE 12:15:07|100km%ZF6 0~6 4% 3
73 3608 B BHfE | mEE JE &L 12:19:06| 100 km&F55~5 9% 9
74 3523 (R EBiE| BER 12:19:41|100km&F50~54%| 19
75 3642 | BlR | TER 12:22:27(100km&F55~59%| 10
76 3607 | BN 7 | BER 12:23:51|100kmzF55~598| 11
77 3432 | At = | oAR 12:26:50 100 kmzFas~a9k| 15
78 3327 | By =i | WEBER 12:27:15(100km&Fa0~a4z| 11
79 3526 |fMEE XH| BAME (WEAHF 27[12:29:08[100kmzF50~54% 20
80 3524 | #H ¥ | FLUE 12:30:47)100kmzFs50~548| 21
81 3564 w EE IS 12:34:18|100km&F50~54%| 22
82 3101 |FBE Hrpd4| HRE 12:35:29[100kmkxF30~34% 3
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83 3404 |RKEH AW E| REA 12:35:42|100km&F4 5~4 95 116
84 3440 | RE FF | BIIE 12:36:46[100 kmaFas5~a9m 17
85 3705 | /N2 BT | BABEER 12:36:47[100km&aF60~64% 4
86 3706 | ) mE| EEE (A7 [12:37:24100kmkF60~645% 5
87 3614 | k& EF | EREC 12:38:54(100km&F55~598| 12
88 3556 | KB E=®RF| BBER | KXBIE [12:39:00l100kmiF50~548 23
89 3306 | BL HF |#mE/IE 12:39:29100km&Fa0~4 425 12
90 3416 |x=EE meaF| EER 12:39:41(100kmxFa5~49%| 18
91 3511 £ TR | KRF 12:43:59 100 kmxF50~54%| 24
92 3634 |KE BYF| BHBEE 12:45:05[100km&F50~5 4% 25
93 3319 | A =% | @HE | MA+EK [12:46:144 100 kmuFa0~44%| 13
94 3401 | KB H=E | BERE 12:47:24(100km&Fa5~498| 19
95 3012 | IR BEE 12:47:241100 km&F2 9T 6
96 3008 Sk HHE | ¥EER 12:48:031100 km&F2 9T 7
97 3633 | HFE FF | MLUE 12:48:24100km&F55~598| 13
98 316 |WWH EERK| dtEE 12:49:00{ 100k m&F30~3 4% 4
99 3522 FE EF | BEBER 12:49:59|100kmuF50~54%| 26
100 3213 JIE B | FINE 12:51:04|100km&F735~3 9% 12
101 3315 | Kt B/E | KBRAF (A7 3[12:51:09( 100 kmkFa0~24m| 14
102 3619 il BAZE | TER 12:52:241100 km&F55~5 9% 14
103 3325 | = BE| FINE |i g5 EAE[12:53:59(100kmuFa0~4a4| 15
104 3449 Wil FIE | =R 12:56:26|100km&F45~4 9% 20
105 3567 | M BBE | EEE 12:59:36|100kmzF50~548| 27
106 3559 |[HEL EETF| ERH 12:59:36| 100 km&F50~5 4% 28
107 3421 L EHFIINE 13:02:22|100km&Fa5~4 9% 21
108 3441 | hE KE | SME [JL—2H4[13:02:29]100kmaFas5~a9m| 22
109 3206 |EEH oHCH| FHRE 13:02:52(100km&F35~398| 13
110 3006 | KT E=Z=TH| #EER 13:02:57[ 100 km&F2 9BUT 8
111 3504 | fEw HE | BEE 13:03:33| 100 km&F50~5 4% 29
112 3509 | FEE =E | LBE |5 3dhE|13:03:147(100kmuxF50~54% 30
113 3512 | RE ER | BEE | EhAL— [13:04:02|100kmixFs50~54| 31
114 3708 | HHF Al | REE 13:04:39[100kmzF60~64% 6
115 3552 | A BF | KR 13:07:14(100km&F50~54%| 32
116 3519 AR EBEZRTF| ERH 13:07:17(100km&F50~54%| 33
117 3711 |18 fex=ER| LEE [F—LF 03 [13:07:27[100kmkF60~6 4% 7
118 3448 | HE BE | =#HF | HKERC [13:09:21|100kmxFas5~29%| 23
119 3435 Mk B | SR 13:11:42 100 kmaFas5~a9m| 24
120 3517 | AE HEF | ERED 13:11:45 100 km&F50~5 4% 34
121 3623 |(¥EH E=EF| mEF 13:12:26| 100 km&F55~5 9% 15
122 3537 |Mab EER| =EAA 13:12:32[100kmzFs50~54% 35
123 3515 |JIIEAH Ei| EBER 13:12:36]100km&F50~5 4% 36
124 3415 |A HRF| TEE |Hm~vT7 Y |13:13:15 100 kmixFa5~4 9% 25
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125 3503 | BH HE | ZEER 13:14:04[100km&F50~547% 317
126 3528 | BEAN BHF | EEE 13:14:08|100km&F50~54%| 38
127 3560 |[/IhAfR BE| TEE [Bzs>r—x[13:15:21]100kmaxx50~54 39
128 3636 | A HxE | AR 13:17:16|100km&F55~59%| 16
129 3812 hilg X2 | ZEEB 13:17:22(100kmzF35~3 9% 14
130 3324 | /i =& | 'RE 13:17:27(100km&Fa0~44z| 16
131 3102 | &F | =EUE |V b UEES(13:18:03|100kmxF30~34% 5
132 3533 | /Il @ERRF| F/IIR 13:19:00(100km&F50~5 4% 40
133 3437 |tE4A KR A&l BEE | AHMEE [13:19:52|100kmxFas~a9m| 26
134 3444 |RIII =< | BRE 13:20:10(100km&Fas5~a 98| 27
135 3547 | &xM U R | BEEE [ITZ T &I|[13:20:19100kmuxFs0~54%| 41
136 3535 | &rE k& | BERE |BEEWHREPL13:20:22|100kmaF50~54%| 42
137 3725 | X FR | KA 13:21:12[100km&F6 0~6 4% 8
138 3545 | By HEE | FIIE 13:21:39100km&F50~548| 43
139 3310 |hk =4 HE| EER 13:22:08(100kmzF40~4 4% 17
140 3570 | 8 RE7F | BBER 13:22:17(100kmzF50~54| 44
141 3445 IR HETF| EER 13:22:17[100km&F45~4 9% 28
142 3627 7Y N Egt TCMC [13:23:37|100km&F55~598| 17
143 3610 |ZLE8 WIH| SRE | F—LRM |13:24:26(100kmzF55~59% 18
144 3617 | A& & FLE | LARFHERE] 13:24:35] 100 kmxF55~59| 19
145 3807 £l ¥ | REE 13:24:46]1100 k m&F6 5Ll L 2
146 3314 g BT | BEARR 13:26:18| 100 km&F40~4 4% 18
147 3214 | XAB X | BEHR 13:26:40|100kmzF35~398| 15
148 3446 WA % | FLE 13:28:51|100km&F45~4 9% 29
149 3433 | BEH RE | EREP RRT 13:29:13100kmxFas5~4a9%| 30
150 3438 |mEE BT SR RRT 13:29:14|100km&F45~4 9% 31
151 3412 | ®U)ll &=E | BE& [ZizAssHY|[13:30:56|100kmuFas~a9%| 32
152 3531 | BBjR B | dvmE [ZiAsssY|[13:30:57100kmuFs50~54%| 45
153 3321 ZH =i | SHE 13:31:22|100km&Fa0~44%| 19
154 3436 |BEER EiL| FIE 13:31:24|100km&F4a5~49%| 33
155 3005 | sk FiUh | EIRE 13:31:27| 100 km& T2 9muT 9
156 3313 | & &TF | BEEER 13:32:48|100kmuFa0~44%| 20
157 314 NE BF | KR |KBREEAC|13:32:56{100 kmuF6 5t 3
158 3107 | T MK | EBER 13:33:13|100kmxF30~34% 6
159 3507 |=KR AEF| EAME 13:33:31|100km&F50~54%| 46
160 3413 | kA BEE | 8HMB | 3 vy —% |13:33:55(100kmuFas~a9%| 34
161 3303 Yl ME | SFE | 3y —2= [13:33:55(100kmaFa0~44% 21
162 3407 | A Ak | BRE 13:34:46(100kmuFa5~498| 35
163 3609 | KEE NF | ERE | ro0mEe|13:34:58 100 kmxF55~59%| 20
164 3518 |HhEHE E@l MER pN NI 13:35:15(100km&F50~548| 47
165 3723 |8l EETF| BEER B2 13:36:59|100km&F6 0~6 4% 9
166 3003 |FAP HEHE EER 13:37:33]100 km&F2 9T 10
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167 3726 | [E FF | ERE 13:37:56[100kmzF60~64% 11)
168 3426 |45 HME| KA 13:38:04|100km&F45~49%| 36
169 3521 I ER [SERINE|l LILLEY |13:38:40|100km&F50~54% 48
170 3431 | EE & | EER 13:38:54|100km&Fa5~49%| 37
171 3423 | T HBEF| &FME | S UEBRHK [13:39:09|100kmxFas~49m 38
172 3202 | g FE | &AME 13:39:22|100km&F35~398| 16
173 3527 |[/hE BIEB| EREP 13:40:25| 100 km&F50~5 4% 49
174 3630 | Wiy BE | SHE | FFLA v [13:40:31|100kmuxFs55~59%| 21
175 3804 | &2 EETF | BER TI7K 13:43:44 100 km&F 6 5MLE 4
176 3318 BA 7/ | TR 13:45:03|100km&zFa0~a 4| 22
177 3408 | AL tAF | FLE | G [13:45:43|100kmzFa5~49%| 39
178 3620 | B8 EE | #EER 13:46:09|100km&F55~598&| 22
179 3209 | LT Ef | mHE 13:46:34|100kmzF35~39&| 17
180 3208 A E | AR 13:48:27(100kmxF35~39%| 18
181 3216 | h@A BF |[MILE 13:48: 44100 km&F35~398 19
182 3729 LA = | AFLE 13:48:47(100kmzr60~64m| 11
183 3506 | BT =M | KERAT 13:49:05|100km&F50~54%| 50
184 3712 | BE =& | "RRE 13:49:05|100km&F60~64%| 12
185 303 wm FKF | KRBT | REALX [13:49:05(100km&xF60~645| 13
186 3414 | xE H=EF| K& 13:49:49| 100 km&F45~4 9% 40
187 3434 = FB pZaN MBS BE 13:50:27|100kmuFa5~a 98| 41
188 3715 | AN EiF | =EBE 13:50:35|100kmuzF60~64% 14
189 3427 |FE5H FKTF| aHE 13:50:48|100km&zFa5~a 98| 42
190 3554 [ILHE ZFH4F| duEE [613Y &~RC|13:51:09|100km&F50~54% 51
191 3403 | f&BE T | MILE EhAF |13:51:29(100kmuFas5~495| 43
192 3106 | A HFB | REE 13:52:19(100km&F30~3 4% 7
193 3508 | BER BT | BEE 13:52:23|100km&F50~548| 52
194 3628 WE I3 KB T 13:53:00| 100 km&F55~5 9% 23
195 3502 |AN CIEF| &R F5RC [13:53:23|100kmxF50~545 53
196 3606 |FEERRE ETF| mBER 13:54:39|100kmuF55~59%| 24
197 3626 | A BT | EER S 13:54:40|100km&F55~59%| 25
198 3501 i =R | dvEE |EHERERE|13:54:51100kmuF50~545| 54
199 3572 [B)Il BEFIEREBE 13:54:52| 100 km&F50~54% 55
200 3707 |[4H BATF| ER# [ FREERS[13:55:39|100kmuF60~64%| 15
201 3641 | KR =M | @8 [7—E—RC|[13:55:551|100kmx¥55~59%| 26
202 3506 | B/ &x= | EER 13:56:10|100km&zF50~54%| 56
203 3430 |fE4K FIE| BEE 13:57:29100kmuFas5~a9%| 44
204 3718 | WA EF | EAR 13:57:38|100kmzF60~648 16
205 327 Bl 47 | BHNE [F2H8EAT[13:58:33|100kmuFa0~a4| 23
206 3632 |EAX EFTF| @R 13:58:35|100km&F55~598&| 27
207 3606 |Filu ExRF| LBE 13:59:05(100km&Fs55~59%| 28
208 3616 | M+ E# | BHEE | BAIL 72 [13:59:27|100kmuF55~59% 29
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209 3603 22 TE | adR ¥5RC 14:00:58| 100 km&F55~59%% 30
210 3638 | THM XE | %8 | OBBCP [14:03:09(100kmk¥55~59%| 31
211 3809 | A 1EHxE | BEAR ) —7 [14:09:34(100 km&F658LUEL 5
212 3802 R EETF| EFE | BAFKAS |14:11:22]100 km&xF6 5mAULE
213 3406 |MMA MERTF| BHME QT+ —X|[14:14:44|100kmuFas5~495 45
214 3447 | BH BF | 2ME | H~F~7F |14:18:33[100kmuFa5~4 95 46
215 3544 XH Bk | MR 14:18:33[100km&F50~5 4% 57
216 3701 |#EEB BERE| BRE FU Y7 [14:20:45|100kmaF60~648 17




